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lagr_asym_us_avg (ppb) 1D pull distribution
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1D pull distribution
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diff_bpm1Y (nm) 1D pull distribution

. XZTndf 19.52/54 |,
— Mean  -0.001936 +0.08033
- pO 2.401+ 7.501 C
— 20 T ] Std Dev 0.5957 + 0.0568
100 = 18 [ Underflow 0
[ L
N Overflow 0
50 16
[ ] I X2/ ndf 4.406/3
® :
I ‘ r { ‘ I ] ]' I ] I 141 Constant 1475 £2.71
0 i ry L
- Mean 0.02843 + 0.12942
® ]'
[ 12 __
® ® L Sigma 0.7526 +0.1088
_50 -
C ® 101~ 1
-100 __ 8 C
o rrreerrrrrerr e e e e el 3
2r

III|III|I ||||||| ||III|III
6 4 2 0 2 4 6 8

CJOO



diff_bpm1Y RMS (um)

H |

3.02—

(wn) SNY

S'/v8Y
V' Lv8Y
€'Lv8Yy
c'Ly8Yy
T'Lv8Y
0'Ly8Yy
7'or8y
£or8y
2'9r8Yy
Tov8y
0'9r8Y
ac1¢14
€'av8Y
2'Sv8Yy
T'sv8y
0's¥8Y
lA2¢14
214
[A2¢:14
T'vv8y
0'vv8y
S'EV8Y
V'evsy
£erey
[aa72:14
T'evsy
0’8y
€8y
T8y
T'Tv8y
0'Tv8Y
7'or8y
£0ovey
o8y
Tovsy
0'or8y
'6E8Y
£'6E8Y
c'eesy
T'6E8Y
0'6E8Y
£'8e8Y
2'8e8Y
T'8e8y
0'8e8Y
v'Le8Y
€',E8y
c'lesy
T'Le8Y
0',e8Y
7'9E8Y
€9es8y
2'9E8Y
T'9g8y
0'9e8Y
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1D pull distribution
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